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9.) Joanna needs several pieces of pipe that are 1+ inches long. She has a pipe that is 11 ‘ inches long. How many 11 s inch pieces can she cut

from the 11 long pipe? l , _/,
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10.) You are stacking books in a box that is 12 inches high. Each book is 1  inches thick. How many books can you fit in each box in a single

stack?
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1) Marie had '°7 feet of ribbon to make bows. Each bow required

with the ribbon? 1.2
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4 foot of ribbon. How many bows could she make

3.3
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12.) Andy needs to solve 33

In order to do this, he multiplies "~ Will Andy’s method work?

8

5
Yes, because% and = are equivalent.
3

No, because % and % are not eguivalent.

ﬁ Yes, because dividing by a fraction is the same as muluplying by the reciprocal of the fraction.

No. because ore strategy involves division and the otner involves multiplicaron.

13.) Jennifer has a small baking pan shaped like a rectangular prism. She lines the bottom of her pan with aluminum foil. The area of the
rectangular piece of foil is 114 square inches. Its length is 4-5 inches. What is the width of the foil? Explain or show your reasoning.

(Area = Length x width)
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